
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 

814 RA 

TRIUMPH 
Speed Triple 1050, 16 – 19 

reverse shifting  
Part Nr.  5480 

 

813 LA 

8300 

8450 

M6 x 10 DIN7380 

 M8 x 25 DIN7991 

M8 x 30 DIN7380 

M8 x 60 DIN912 

Ø22xtl.11 

807Z 

M6 x 25 
816R, M6 DIN985 

M6 x 45 DIN7380 

817 + Ø12 x tl.12+9 

M6 DIN985 

 
 

M8 x 30 DIN7380 

810R 
M6 x 25 DIN7991 

 

M8 x 40 DIN7380 
M8 DIN934 

M3 x 10 DIN912 

washer DIN9021 

M6 x 35, Ø12 x tl.9 

816L, M6 DIN985 829 

818.135mm 

Package 

1x M8 x 20 DIN912 
2x 812, 1x 807Z 


